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(a) What is project? Explain the factors that could

constrain the success of a project. (3+5)

(b) “Failure to prepare is preparing to fail.” Elaborate

the statement in the light of project management.

(7)
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Write short notes on any two of the following:

(7.5+7.5)
(a) Project management process

(b) Time value of money

(c) Sensitivity Analysis

(d) United Nations Industrial Development

Organization (UNIDO) Approach

frfofaa % @ fonedl @t W wféra oot forfae
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OR

(a) Discuss the principal sources of discrepancy
between social costs and benefits on the one hand

and monetary costs and benefits on the other.

(8)

(b) State the major similarities between PERT and
CPM. Under what circumstances is CPM a better
technique of project management than PERT?

(3.543.5)
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(a) What is the project life cycle (PLC)? Describe
the main phases of the PLC with the help of

suitable examples. (3+5)

(b) What are the keys to successful stakeholder
engagement in a project? Discuss the benefits of

stakeholder analysis. (3:5+3.5)

(v) uRarsm e = (foadt) @ 87 Iugea Jemol
& WEEA ¥ Ne D I TN w que F

(d) fd aRaremr ¥ Raurat ot awer wswfEr @ Fon
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(a) What is ‘project scope’? What sections should the

project scope document include? (3+5)

P.T.O.
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(b) The central government is planning to set up a (v) oRdeEr B R IR Feaw ;
special economic zone (SEZ) to speed up the
economic growth of the economy. Generation of () wewagl Tw iR wEcagyl Afafaftal = el i)

employment, directly or indirectly is one of the
(@) onifér wRaeFn @ B @1 W SR TEERT SR @

main benefits of the proposed SEZ. However, the

&l
project requires a large area of land and some ) )
part of the probable site of the SEZ is currently ) Nfe wwg ¥ vE GEE TEY qRAeET 9 Ul c]
used for agricultural purposes. Moreover, it is & dEar @ 27

required to relocate 2 villages. Identify the

(wafives 2w & fore e o @ Sietd & 01217 ®)

stakeholders and their respective stakes in the

project. Suggest some measures to complete the

gieafem faoffat & o Jwfoas ww=

project smoothly. (3.5+3.5)
(T) ‘vivige @hIT' o1 27 Woae EhY TEEe § e 9 4. Explain Programme Evaluation and Review Technique
wg WEe B =ifeg? (PERT) and Critical Path Method (CPM) technique.
) ) What kind of decision-making situations may be

(®) @z WaR Fdaaen &t AFE gfg = 7fy = & fog
vE faiw e &= (vadors) e & @i dre
T T | U AT WA T F YNNG Fead WA e SR e qee (TEaR) sk fnfeser wror
THESE & WA ol A ¥ U B BT, IRaeET @ Fuz (drfien) Tesen o e Fifeg) e sk drden

analysed using PERT and CPM techniques? (7.5+7.5)

P.T.O.
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OR

(a) What is SWAT analysis? Discuss its significance
in project management. Assess any imaginary

project by using SWAT analysis. (3+3+2)

(b) What factors have a bearing on the plant capacity?

(7)

(T) SWAT fawemr s 27 aRaen yees § 3aa Weed
™ T Ffewl SWAT faweiwn &1 Iuan s &t
W Feufe IRATH T FEhe Sl
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(a) Explain the net present value (NPV) method of
evaluating a project proposal. How the NPV
differs from the payback period method? Which

one is better between the two? (3+3+2)

(b) List the important sources of secondary information

useful for market and demand analysis. (7)

(v) Tt afaiomn were & qeaichr & fae adam 3o
(i) wefy &t =ren Fife i W& sEf
vgfa ¥ fra wew O 27 A0 A @ = JEew 27

(@) "R 3R i fwewn & g v wreafie s
F FEET A @ g S

OR

11

(a) Draw the PERT network for the project. (4)

(b) Determine the critical path and critical activities.

C))

(c) What is the expected project completion time and

its variance (3.5)

(d) What is the probability of completing the project

one week before the expected time?

(The area under the normal curve for the relevant

z value i1s 0.1217) (3.5)

Alternative question for students with visual

impairment

v qRaeen ¥ At afifRet wmhe & e wwa s

(wmet ¥) 3R = fadwad @ wew &
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A project consists of nine activities whose time

estimates (in weeks) and other features are as follows:

10

Projects Year 0 | Year 1 | Year 2 | Year 3
) A -10,000 | 10,000 | - -

B -10,000 | 7500 7500 -

C -10,000 | 2000 4000 12000

D -10,000 | 10000 3000 3000

Activity Immediate Time estimates (in weeks)
Predecessor | Most Most | Most
Optimistic | Likely | Pessimistic
A . 2 4 6
B - 6 6 6
C - 6 12 24
D A 2 5 8
E A 11 14 23
F B, D 8 10 12
G B, D 3 6 9
H C, F 9 15 27
I E 4 10 16

520 7

(a) XYZ company is considering the following

investment projects:

Rank the projects according to (i) Payback method
and (ii) Net Present Value (NPV) method. If the
company can choose only one project, which one
should be accepted? Assume a discount rate of 10

percent. The present value factor is:

P.T.O.
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Year PVF(10,n)
1 .909
2 .826
3 73l

(2+3+3)

(b) What is financial appraisal of a project? What are

the different aspects that must be looked into while

conducting a financial appraisal of a project?

(3+4)

(v) vowmaroe &o Feafofaa Faw aRasmret w faem

T @ ‘3:
gfRarsEg ag o ag 1 ag 2 ag 3
v -10,000 | 10,000 - -
Ell -10,000 | 7500 7500 -
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€/ -10,000 | 2000 4000 12000

Kl -10,000 | 10000 3000 3000

uRaeE A (i) W wefy sk (i) Few adE
(T waf & AR ¥ AR AR w e v @
TRAVT T TR 2, A FT-E TRA SR &
wBT? 10 wewd @ YT W AT F a9 [ FRE 2

a§ HEE (10,97)
I 909
2 826
3 751
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